Pacific Journal of Mathematics

 \mathcal{L} – 2 SUBSPACES OF GRASSMANN PRODUCT SPACES

MARION-JOSEPHINE LIM

Vol. 33, No. 1 March 1970

∠ − 2 SUBSPACES OF GRASSMANN PRODUCT SPACES

M. J. S. Lim

The subspaces of the second order Grassmann product space consisting of products of a fixed irreducible length k and zero are interesting not only for their own sake and their usefulness when determining the structure of linear transformations on the product space into itself which preserve the irreducible length k, but also because they are isomorphic to subspaces of skew-symmetric matrices of fixed rank 2k. The structure of these subspaces and the corresponding preservers are known for k=1, when the underlying field F is algebraically closed. This paper gives a complete characterization of these subspaces when k=2 and F is algebraically closed. When F is not algebraically closed, these subspaces can be different.

Let \mathcal{U} be an n-dimensional vector space over an algebraically closed field F. Let $\bigwedge^2 \mathcal{U}$ denote the $\binom{n}{2}$ -dimensional space spanned by all Grassmann products $x_1 \wedge x_2, x_i \in F$. A vector $f \in \bigwedge^2 \mathcal{U}$ is said to have irreducible length k if it can be written as a sum of k, and not less than k, nonzero pure (decomposable) products in $\bigwedge^2 \mathcal{U}$. Let \mathcal{L}_k denote the set of all vectors of irreducible length k in $\bigwedge^2 \mathcal{U}$, and $f \in \mathcal{L}_k$ if and only if $\mathcal{L}(f) = k$. A subspace of $\bigwedge^2 \mathcal{U}$ whose nonzero members are in \mathcal{L}_k is called an $\mathcal{L} - k$ subspace.

An $\mathscr{L}-2$ subspace H is a (1,1)-type subspace if there exist fixed nonzero vectors $x \neq y$ such that each nonzero $f \in H$ can be written $f = x \wedge x_f + y \wedge y_f$. A basis of a (1,1)-type subspace is called a (1,1) basis. When dim $\mathscr{U}=4$, every $\mathscr{L}-2$ subspace has dimension one ([4], Th. 10).

It is shown here that (i) for dim $\mathscr{U}=n\geq 5$, there always exists an $\mathscr{L}-2$ subspace of (1, 1)-type and dimension two; (ii) the 2-dimensional $\mathscr{L}-2$ subspaces are of (1, 1)-type; (iii) every $\mathscr{L}-2$ subspace of dimension at least four is of (1, 1)-type; (iv) the $\mathscr{L}-2$ subspaces have dimension at most (n-3) when $n\geq 6$; and this maximum dimension is attained. Also the 3-dimensional $\mathscr{L}-2$ subspaces are characterized, and these are the most varied.

From [4], Theorem 5, each $f \in \mathcal{L}_k$ can be uniquely associated with a 2k-dimensional subspace [f] of \mathcal{U} . The pair $\{f_1, f_2\}$ is said to be a P_m -pair in \mathcal{L}_2 if $[f_1] + [f_2]$ has dimension m; and the set $\{f_1, \dots, f_k\}$ in \mathcal{L}_2 is pairwise- P_m if each pair is a P_m -pair, for $i \neq j$.

THEOREM 1. Let dim $\mathcal{U} = n \geq 5$. Then there always exists a

(1, 1)-type $\mathcal{L} - 2$ subspace of dimension two.

Proof. For $n=5, u_1, \cdots, u_5$ independent in \mathscr{U} , the subspace $\langle u_1 \wedge u_2 + u_3 \wedge u_4, u_2 \wedge u_5 + u_1 \wedge u_3 \rangle$ is a (1, 1)-type \mathscr{L} -2 subspace of dimension two. For $n=6, u_1, \cdots, u_6$ independent in \mathscr{U} , the subspace $\langle u_1 \wedge u_2 + u_3 \wedge u_4, u_1 \wedge u_5 + u_3 \wedge u_6 \rangle$ is a (1, 1)-type \mathscr{L} -2 subspace of dimension two.

Theorem 2. Every 2-dimensional $\mathcal{L}-2$ subspace is a (1,1)-type subspace.

The theorem follows from the following Lemmas 1 to 4.

LEMMA 1. Let f_1 and f_2 be a P_7 -pair in \mathcal{L}_2 , a, b be nonzero in F. Then $\mathcal{L}(af_1 + bf_2) = 3$.

Proof. Let $[f_1] \cap [f_2] = \langle x_1 \rangle$. By Lemma 9 of [4], we can choose a basis $\{x_1, \dots, x_4\}$ of $[f_1]$ such that $f_1 = x_1 \wedge x_2 + x_3 \wedge x_4$ and a basis $\{x_1, x_5, x_6, x_7\}$ such that $f_2 = x_1 \wedge x_5 + x_6 \wedge x_7$, with $[f_1] + [f_2] = \langle x_1, \dots, x_7 \rangle$. Then $z = af_1 + bf_2 = x_1 \wedge (ax_2 + bx_5) + ax_3 \wedge x_4 + bx_6 \wedge x_7$ and $\mathcal{L}(z) = 3$ by Theorem 7 of [4].

LEMMA 2. Let f_1 , f_2 be a basis of a 2-dimensional $\mathscr{L}-2$ subspace. Then $\{f_1, f_2\}$ is a P_k -pair where k is either 5 or 6.

Proof. Each of $[f_1]$ and $[f_2]$ has dimension four. It is easy to see that k cannot be 4 (Theorem 10 of [4]). By Lemma 1, we conclude $k \neq 7$. If k = 8, Theorem 6 of [4] implies that $\mathcal{L}(f_1 + f_2) = 4$. Hence k is either 5 or 6.

DEFINITION. $f_1, f_2 \in \mathscr{L}_2$ can be expressed in (1, 1)-form if $\{f_1, f_2\}$ have representations $f_i = x \wedge u_i + y \wedge v_i$, i = 1, 2 and $\langle x, y \rangle$ is a fixed 2-dimensional subspace of \mathscr{U} .

LEMMA 3. Let $\{f_1, f_2\}$ be a P_5 -pair and a basis for an $\mathcal{L}-2$ subspace. Then $\{f_1, f_2\}$ have representations

$$f_1=y_{\scriptscriptstyle 4}\wedge u_{\scriptscriptstyle 1}+u_{\scriptscriptstyle 2}\wedge u_{\scriptscriptstyle 3}$$
 , $f_2=y_{\scriptscriptstyle 5}\wedge u_{\scriptscriptstyle 2}+u_{\scriptscriptstyle 1}\wedge u_{\scriptscriptstyle 3}$,

where $\{u_1, u_2, u_3, y_4, y_5\}$ is some basis of $[f_1] + [f_2]$.

Proof. Let $\mathcal{U}_0 = [f_1] \cap [f_2]$. By Lemma 9 of [4], there are representations

$$f_1=x_{\scriptscriptstyle 1}\wedge v_{\scriptscriptstyle 1}+v_{\scriptscriptstyle 2}\wedge v_{\scriptscriptstyle 3} \; , \ f_2=x_{\scriptscriptstyle 2}\wedge w_{\scriptscriptstyle 1}+w_{\scriptscriptstyle 2}\wedge w_{\scriptscriptstyle 3} \; ,$$

where $\langle v_1, v_2, v_3 \rangle = \langle w_1, w_2, w_3 \rangle = \mathcal{U}_0$. If v_1, w_1 are dependent then some combination of f_1 and f_2 has irreducible length ≤ 1 . Hence they are independent. Moreover $\langle v_1, w_1 \rangle \cap \langle v_2, v_3 \rangle$ and $\langle v_1, w_1 \rangle \cap \langle w_2, w_3 \rangle$ are both nonnull, and hence, without loss of generality, both v_2 and w_2 are in $\langle v_1, w_1 \rangle$. Thus $v_2 = av_1 + bw_1$ and $w_2 = cv_1 + dw_1$. Clearly $b \neq 0$, $c \neq 0$. Finally

$$w_3 = pv_1 + qw_1 + rv_3, r \neq 0$$
.

Setting $y_4 = br^{-1}c^{-1}(x_1 - av_3)$, $y_5 = x_2 - dw_3 + cqv_1$, $u_1 = b^{-1}rcv_1$, $u_2 = w_1$, $u_3 = bv_3$, we obtain the desired representations.

COROLLARY 1. Let $\{f_1, f_2\}$ be a P_5 -pair and $\langle f_1, f_2 \rangle$ a 2-dimensional $\mathscr{L}-2$ subspace. Then $\{f_1, f_2\}$ can be expressed in (1, 1)-form.

LEMMA 4. Let $\{f_1, f_2\}$ be a P_6 -pair and $\langle f_1, f_2 \rangle$ a 2-dimensional $\mathscr{L}-2$ subspace. Then $\{f_1, f_2\}$ can be expressed in (1, 1)-form.

Proof. By Lemma 9 of [4], there are representations

$$f_{\scriptscriptstyle 1} = x_{\scriptscriptstyle 1} \wedge u + v \wedge w$$
 , $f_{\scriptscriptstyle 2} = x_{\scriptscriptstyle 1} \wedge u' + v' \wedge w'$,

where $\langle x_1 \rangle \subset [f_1] \cap [f_2]$ and $\langle u, v, w \rangle, \langle u', v', w' \rangle$ are contained in

$$([f_1] + [f_2] - \langle x_1 \rangle)$$
.

If $\langle v, w \rangle \cap \langle v', w' \rangle = 0$, some linear combination of f_1 , f_2 has irreducible length 3. If $\langle v, w \rangle = \langle v', w' \rangle$ some linear combination of f_1 , f_2 has irreducible length ≤ 1 . The result follows.

Lemma 2 implies the following lemma.

LEMMA 5. Let H be an $\mathcal{L}-2$ subspace. Let $\{f_1, \dots, f_k\}$ be an independent subset of H. Then

- (i) $3 \ge [f_i] \cap [f_j] \ge 2 \text{ for } 1 \le i < j \le k;$
- (ii) dim $\sum_{i=1}^{k-1} [f_i] \le \dim \sum_{i=1}^k [f_i] \le \dim \sum_{i=1}^{k-1} [f_i] + 2$.

Corollary 1 implies:

LEMMA 6. Let $\{f_1, f_2, f_3\}$ be pairwise- P_6 and generate a 3-dimensional $\mathscr{L}-2$ subspace. Then $\{f_1, f_2, f_3\}$ is a (1, 1) basis for $\langle f_1, f_2, f_3 \rangle$ if $[f_3] \supset [f_1] \cap [f_2]$.

1. dim $\mathcal{U} = 5$. It is not difficult to see that when dim $\mathcal{U} = 5$, the basis of any $\mathcal{L} - 2$ subspace must consist of pairwise- P_5 vectors.

THEOREM 3. Let dim $\mathcal{U} = 5$, H an $\mathcal{L} - 2$ subspace. Let $\{f_1, \dots, f_k\}$ be independent in H. Then $k \leq 3$.

Proof. Let $\{u_1, \dots, u_5\}$ be a basis of \mathscr{U} . Then each f_i , $1 \leq i \leq k$, has the form $f_i = \sum a_{ij}^l u_i \wedge u_j (1 \leq i < j \leq 5)$, $a_{ij} \in F$. (*) Consider the vector $f = \sum_{i=1}^k \beta_i f_i$, $\beta_i \in F$ not all zero. Now $\mathscr{L}(z) \leq 1$ if $k \geq 4$ for some $\{\beta_i\}$ not all zero since the following is true. $f = \sum_{i=1}^k \beta_i f_i = \sum p(i_1, i_2) u_{i_1} \wedge u_{i_2} (1 \leq i_1 < i_2 \leq 5)$ where $p(k_{\sigma(1)}, k_{\sigma(2)}) = \operatorname{sgn} \sigma p(k_1, k_2)$, σ a permutation of $\{1, 2\}$, and $\{k_i\}$ are arbitrary integers $1 \leq k_i \leq 5$. Thus, using (*), it follows that $\{p(i_1, i_2)\}$ are linear homogeneous functions of $\{\beta_i, \dots, \beta_k\}$. Then the quadratic p-relations

$$\sum_{\mu=0}^{r} (-1)^{\mu} p(i_1,\ \cdots,\ i_{r-1},\ j_{\mu}) p(j_0,\ \cdots,\ j_{\mu-1},\ j_{\mu+1},\ \cdots,\ j_r) = 0$$

for all sequences $(i_1, \dots, i_{r-1}), (j_0, \dots, j_r)$ of integers taken from $\{1, \dots, n\}$ define (for n=5, r=2 in this case) five nontrivial equations, which are in fact quadratic homogeneous equations in the indeterminates β_1, \dots, β_k in F. Moreover, of these five, exactly three are independent (see [3], pp. 289, 312). Hence, if $k \geq 4$, then there exists a nontrivial solution for the five equations (see [6], chapter 11). For these values of β_1, \dots, β_k (not all zero), $\mathscr{L}(f) \leq 1$. Hence k < 4. The following three vectors generate an $\mathscr{L}-2$ subspace of dimension three:

$$f_{\scriptscriptstyle 1} = u_{\scriptscriptstyle 4} \wedge u_{\scriptscriptstyle 1} + u_{\scriptscriptstyle 3} \wedge u_{\scriptscriptstyle 2}$$
 , $f_{\scriptscriptstyle 2} = u_{\scriptscriptstyle 5} \wedge u_{\scriptscriptstyle 2} + u_{\scriptscriptstyle 3} \wedge u_{\scriptscriptstyle 1}$, $f_{\scriptscriptstyle 3} = (u_{\scriptscriptstyle 4} + u_{\scriptscriptstyle 5}) \wedge u_{\scriptscriptstyle 3} + u_{\scriptscriptstyle 2} \wedge u_{\scriptscriptstyle 1}$.

The following theorem is true for all n.

THEOREM 4. Let dim $\mathcal{U} = n$. Let $\{f_1, \dots, f_k\}$ be a (1, 1) basis for an $\mathcal{L} - 2$ subspace. Then $k \leq n - 3$.

Moreover, when $n \ge 5$, there always exists a (1, 1)-type $\mathcal{L}-2$ subspace of dimension (n-3).

Proof. Suppose k=n-2. Each f_i can be written $f_i=u_1\wedge y_i+u_2\wedge z_i, 1\leq i\leq n-2$, where $\langle u_1,u_2,y_1,\cdots,y_{n-2},z_1,\cdots,z_{n-2}\rangle\subseteq \mathscr{U}$. Now $\{u_1,u_2,y_1,\cdots,y_{n-2}\}$ must be independent for, if not, some linear combination of $\{f_i\}$ has irreducible length ≤ 1 . Hence $\mathscr{U}=\langle u_1,u_2,y_1,\cdots,y_{n-2}\rangle$. Thus $z_j=\sum_{i=1}^{n-2}\alpha_{ij}y_i+\beta_ju_1, 1\leq j\leq n-2$. If $\beta_j\neq 0$, write

$$f_j = u_{\scriptscriptstyle 1} \wedge (y_j - eta_j u_{\scriptscriptstyle 2}) + u_{\scriptscriptstyle 2} \wedge \left(\sum_{i=1}^{n-2} lpha_{ij} y_i
ight)$$
 .

Hence, without loss of generality, we can assume $\{z_i\}$ is dependent on $\{y_i\}$. Using a similar argument, $\{y_i\}$ is dependent on $\{z_i\}$. Hence $\langle y_1, \dots, y_{n-2} \rangle = \langle z_1, \dots, z_{n-2} \rangle$. Hence, for some $\{\alpha_i\} \in F$, not all zero, we have $\sum_{i=1}^{n-2} \alpha_i y_i = \lambda \sum_{i=1}^{n-2} \alpha_i z_i = y$ for some $0 \neq \lambda \in F$; and $f = \sum_{i=1}^{n-2} \alpha_i f_i$ has irreducible length ≤ 1 . Hence $k \leq n-3$.

Now let $f_i = u_1 \wedge u_{i+2} + u_2 \wedge u_{i+3}$ for $i = 1, \dots, (n-3)$, where $\langle u_1, \dots, u_n \rangle = \mathcal{U}$. Then $\{f_i\}$ generate an $\mathcal{L} - 2$ subspace of dimension (n-3).

COROLLARY 2. Let dim $\mathcal{U}=5$, H an $\mathcal{L}-2$ subspace of (1, 1)-type. Then, if dim H>1, dim H=2.

We pause here to introduce some notation.

DEFINITION 1. For subsets S, T of \mathscr{U} , $[S;T] = \langle S \cup T \rangle - \langle T \rangle$. In the case where $S = \{x_1, \dots, x_s\}$ and $T = \{x_{s+1}, \dots, x_k\}$, we use the convention $[S;T] = [x_1, \dots, x_s; x_{s+1}, \dots, x_k]$. Note that in this case if $y \in [S;T]$, then $y = \sum_{i=1}^k \alpha_i x_i$, $\alpha_i \in F$, and at least one of $\alpha_1, \dots, \alpha_s$ is nonzero.

DEFINITION 2. For subsets S, T of \mathscr{U} , $S \wedge T = \{x \wedge y \colon x \in S \text{ and } y \in T\}$. In the case where S is the singleton $\{x\}$, we shall write $S \wedge T$ as $x \wedge T$. Similarly for T. Also, if S is the space $\langle x_1, \dots, x_k \rangle$, then we shall regard S as a set and write $S \wedge T$ as $[x_1, \dots, x_k] \wedge T$. Similarly for T.

The three-dimensional $\mathscr{L}-2$ subspace when $\dim \mathscr{U}=5$. In this context, a basis $\{f_1,f_2,f_3\}$ of an $\mathscr{L}-2$ subspace H is necessarily pairwise P_5 . It is not a (1,1) basis. However, either there exists a three-dimensional subspace \mathscr{U}_0 of \mathscr{U} contained in each $[f_i]$, or there exists a exists a five-dimensional subspace $\mathscr{W} \subseteq \mathscr{U}$ which contains each $[f_i]$ (see [1], p. 14). In fact, $\mathscr{W} = \mathscr{U}$. Moreover, since dim $\mathscr{U} = 5$, dim $[f_1] \cap [f_2] = 3$, and dim $[f_3] = 4$, then dim $\bigcap_{i=1}^3 [f_i] \ge 2$. Consequently this intersection has dimension two or three.

THEOREM 5. Let dim $\mathcal{U}=5$. Let $\{f_1,f_2,f_3\}$ be a basis for an $\mathcal{L}-2$ subspace H such that $[f_i]\supset \mathcal{U}_0,\, i=1,\,2,\,3,\,$ where \mathcal{U}_0 is a three-dimensional subspace of \mathcal{U} . Then \mathcal{U} has a basis $\{u_1,u_2,u_3,x_4,x_5\}$ such that there are representations

$$egin{align} f_{_1} &= x_{_4} \wedge u_{_1} + u_{_2} \wedge u_{_3} \;, \ f_{_2} &= x_{_5} \wedge u_{_2} + u_{_1} \wedge u_{_3} \;, \ f_{_3} &= y \wedge u_{_3} + u_{_2} \wedge u_{_1} \;, \ \end{array}$$

where $y \in [x_4; x_5 \cdot u_1, u_2] \cap [x_5; x_4, u_1, u_2]$.

Proof. \mathscr{U} has a basis $\{w_1, w_2, w_3, y_4, y_5\}$ such that $\mathscr{U}_0 = \langle w_1, w_2, w_3 \rangle$ and there are representations $f_1 = y_4 \wedge w_1 + w_2 \wedge w_3$, $f_2 = y_5 \wedge w_2 + w_1 \wedge w_3$ (see Lemma 3). Now there exists $y' \in [f_3]$ such that $y' \notin \mathscr{U}_0$ and $y' \in [y_4, y_5; w_1, w_2, w_3]$. Since $\{f_1, f_2, f_3\}$ is pairwise- P_5 , it is easy to see $y' \in [y_4; y_5, w_1, w_2, w_3] \cap [y_5; y_4, w_1, w_2, w_3]$. Hence f_3 has a representation

$$f_3 = y' \wedge u + v \wedge w; \mathcal{U}_0 = \langle u, v, w \rangle$$

(see [4], Lemma 9). Now if $u \in \langle w_1, w_2 \rangle$, it is possible to find representations of f_1, f_2, f_3 such that they form a (1, 1) basis for H. This contradicts Corollary 2. Hence $u \notin \langle w_1, w_2 \rangle$, but $u \in [w_3; w_1, w_2]$. In fact, without loss of generality, we can take $u = w_3 + cw_1 + c'w_2$.

Now $\langle w_2, u \rangle$, $\langle w_1, u \rangle$, $\langle v, w \rangle$ intersect pairwise in dimension at least one. Also $u \notin \langle v, w \rangle$. Therefore we may suppose $v \in [w_2; u]$, $w \in [w_1; u]$. We set

$$v = aw_2 + a'u, w = bw_1 + b'u$$
.

Then

$$f_3=(y'+ab'w_2-a'bw_1)\wedge u+\gamma w_2\wedge w_1,\,0\neq\gamma\in F$$
.

Let

$$lpha^2=\gamma$$
 , $w_2=lpha^{-1}u_2$, $w_1=lpha^{-1}u_1$, $u=lpha u_3$.

Then

$$egin{align} f_1 &= (y_4 - c w_2) \wedge lpha^{-1} u + u_2 \wedge u_3 \;, \ f_2 &= (y_5 - c' w) \wedge lpha^{-1} u_2 + u_1 \wedge u_3 \;, \ f_3 &= x \wedge lpha u_3 + u_2 \wedge u_1 \;. \ \end{matrix}$$

We have the result on setting $x_4 = \alpha^{-1}(y_4 - cw_2)$, $x_5 = \alpha^{-1}(y_5 - c'w_1)$, $y = \alpha x$, and noting that $y \in [x_4; x_5, u_1, u_2] \cap [x_5; x_4, u_1, u_2]$.

THEOREM 6. Let dim $\mathcal{U} = 5$. Let $\{f_1, f_2, f_3\}$ be a basis for an $\mathcal{L} - 2$ subspace H such that dim $\bigcap_{i=1}^3 [f_i] = 2$. Then \mathcal{U} has a basis $\{u_1, u_2, u_3, u_4, u_5\}$ such that f_1, f_2, f_3 have representations given by either (i) or (ii) below.

- (i) $f_1 = x_4 \wedge u_1 + u_2 \wedge u_3$, $f_2 = x_5 \wedge u_2 + u_1 \wedge u_3$, $f_3 = u \wedge y + u_3 \wedge y'$, $y, y' \in [x_4, x_5; u_1, u_2, u_3]$, $u \in \langle u_1, u_2 \rangle$,
- (ii) f_1, f_2 as in (i). With $u \in \langle u_1, u_2 \rangle$, $u' \in \langle u_1, u_2, u_3 \rangle$, $f_3 = \gamma u \wedge u' + y \wedge y'$, $y, y' \in [x_4, x_5; u_1, u_2, u_3]$, $0 \neq \gamma \in F$.

Proof. The proof involves a suitable choice of a basis of \mathcal{U} , as in the proof of Theorem 5, and the use of the following lemma.

LEMMA 7. Let $f \in \mathcal{L}_2$ and $\langle u_1, u_2 \rangle$ any two-dimensional subspace

of [f]. Then either

- (i) there exist $v, w \in [f]$ such that $f = \gamma u_1 \wedge u_2 + v \wedge w$, $0 \neq \gamma \in F$, or (ii) there exist $v', w' \in [f]$ such that $f = u_1 \wedge v' + u_2 \wedge w'$.
- *Proof.* Let $\{u_1, \dots, u_4\}$ be any basis of [f]. By Lemma 9 of [4], f has a representation $f = u_1 \wedge u + v \wedge w$, where $\langle u, v, w \rangle = \langle u_2, u_3, u_4 \rangle$. If $\underline{u_1 \wedge u_2 \wedge f} = 0$, then $\langle u_1, u_2 \rangle \cap \langle v, w \rangle \neq 0$, and it is easy to see $u_2 \in \langle v, w \rangle$ since $u_1 \notin \langle u, v, w \rangle$. If $u_1 \wedge u_2 \wedge f \neq 0$, then $\langle u_1, u_2, v, w \rangle = [f]$, and $u = au_1 + bu_2 + cv + dw$ with $b \neq 0$. Then $f = bu_1 \wedge u_2 + [u_1 \wedge (cv + dw) + v \wedge w]$. By Corollary 8 of [4] and since $\mathscr{L}(f) = 2$, the term in square brackets has irreducible length one.

We can in fact replace the basis $\{f_1, f_2, f_3\}$ in Theorem 3 by the basis $\{f_1 + f_2, f_3, f_3\}$. Then $[f_1 + f_2] \cap [f_2] \cap [f_3]$ has dimension two. We obtain:

THEOREM 7. Let dim $\mathcal{U}=5$, H an $\mathcal{L}-2$ subspace of dimension three. Then H has a basis which is either of type (i) or type (ii) in Theorem 6.

Examples of such bases are the following:

Example 1.
$$f_{\scriptscriptstyle 1} = x_{\scriptscriptstyle 4} \wedge u_{\scriptscriptstyle 1} + u_{\scriptscriptstyle 2} \wedge u_{\scriptscriptstyle 3}, f_{\scriptscriptstyle 2} = x_{\scriptscriptstyle 5} \wedge u_{\scriptscriptstyle 2} + u_{\scriptscriptstyle 1} \wedge u_{\scriptscriptstyle 3}$$
 , $f_{\scriptscriptstyle 3} = u_{\scriptscriptstyle 2} \wedge x_{\scriptscriptstyle 4} + u_{\scriptscriptstyle 3} \wedge x_{\scriptscriptstyle 5}$.

EXAMPLE 2. f_1, f_2 as in Example 1. $f_3 = u_2 \wedge (u_1 + u_3) + x_4 \wedge x_5$.

2. $\dim \mathcal{U} = 6$.

The three-dimensional $\mathcal{L}-2$ subspaces. If H is an $\mathcal{L}-2$ subspace with a basis $\{f_1, f_2, f_3\}$ and dim $\mathcal{U}=6$, then dim $\sum_{i=1}^3 [f_i]=5$ or 6. The first case was discussed in § 1. We show that, in the second case, H has a basis of pairwise- P_6 vectors, and there are three possibilities for such a basis.

Suppose dim $\sum_{i=1}^{3} [f_i] = 6$. Now each pair in $\{f_1, f_2, f_3\}$ is either a P_6 -pair. Thus either $\{f_1, f_2, f_3\}$ is pairwise- P_5 or at least one pair is a P_6 -pair. The first case is then reduced to the second.

THEOREM 8. Let H be an $\mathscr{L}-2$ subspace, and let $\{f_1, f_2, f_3\}$ be pairwise- P_5 , independent in H such that $\dim \sum_{i=1}^3 [f_i] = 6$. Then $(\sum_{i=1}^3 [f_i])$ has a basis $\{u_1, u_2, u_3, x_4, x_5, x_6\}$ such that there are representations

$$f_1 = x_4 \wedge u_1 + u_2 \wedge u_3$$

$$egin{align} f_2 &= x_5 \wedge u_2 + u_1 \wedge u_3 \ f_3 &= x_6 \wedge u + v \wedge u_3 \ , \ &\langle u,v
angle &= \langle u_1,u_2
angle, u
otin \langle u_1
angle, u
otin \langle u_1
angle, u
otin \langle u_2
angle, u
otin \langle u_1
angle, u
otin \langle u_2
angle . \end{cases}$$

Proof. There exists a three-dimensional subspace \mathcal{U}_0 of \mathcal{U} contained in each $[f_i]$ (see [1], p. 14). The proof is similar to that of Theorem 5. We choose a basis $\{u_1, u_2, v_3, y_4, y_5, y_6\}$ of $\sum_{i=1}^3 [f_i]$ in order to obtain representations $f_1 = y_4 \wedge u_1 + u_2 \wedge v_3, f_2 = y_5 \wedge u_2 + u_1 \wedge v_3, f_3 = y_6 \wedge w_1 + w_2 \wedge w_3$, and $\langle w_1, w_2, w_3 \rangle = \langle u_1, u_2, u_3 \rangle = \mathcal{U}_0$. Without loss of generality, we can assume $w_2 \in \langle u_1, u_2 \rangle$. Then $w_1 \in \langle u_1, u_2 \rangle$, for, if not, $\langle u_1, u_2, w_1 \rangle = \mathcal{U}_0$ and $(f_1 + f_2 + f_3)$ has irreducible length 3 (see [4], Th. 7). Moreover $u \notin \langle u_1 \rangle$ and $u \notin \langle u_2 \rangle$ (see proof of Lemma 3). Thus $\langle w_1, w_2 \rangle = \langle u_1, u_2 \rangle$ and $w_3 = \lambda(v_3 + \overline{u})$ for some $0 \neq \lambda \in F$ and $\overline{u} \in \langle u_1, u_2 \rangle$. Then $f_1 = y_4' \wedge u_1 + u_2 \wedge (v_3 + \overline{u})$, $f_2 = y_5' \wedge u_2 + u_1 \wedge (v_3 + \overline{u})$, and $f_3 = y_6 \wedge w_1 + \lambda w_2 \wedge (v_3 + \overline{u})$. The appropriate choice of new basis vectors gives the required representations.

COROLLARY 3. Let H be an $\mathscr{L}-2$ subspace, and let $\{f_1, f_2, f_3\}$ be pairwise- P_5 , independent in H such that $\dim \sum_{i=1}^3 [f_i] = 6$. Then $\{f_1, f_2, f_3\}$ is a (1, 1) basis for $\langle f_1, f_2, f_3 \rangle$.

Proof. Choose a suitable representation of f_3 .

LEMMA 8. Let $\{f_1, f_2, f_3\}$ be a (1, 1) basis of an $\mathscr{L} - 2$ subspace satisfying (i) dim $\sum_{i=1}^{3} [f_i] = 6$, (ii) $\{f_1, f_2\}$ is a P_6 -pair. Then $\{f_1, f_2\}$ can be extended to a (1, 1) basis of pairwise- P_6 vectors of $\{f_1, f_2, f_3\}$.

Proof. We choose a basis $\{u_1, u_2, x_3, \dots, x_6\}$ of $\sum_{i=1}^3 [f_i]$ so that

$$f_1 = u_1 \wedge x_3 + u_2 \wedge x_4, f_2 = u_1 \wedge x_5 + u_2 \wedge x_6$$

(Lemma 4). Also $f = u_1 \wedge y + u_2 \wedge y'$, and we can take

$$\langle y, y' \rangle \subset \langle u_2, x_3, \cdots, x_6 \rangle$$

([4], Lemma 9). Let $y=u+\sum_{i=3}^6\alpha_ix_i$, $y'=u'+\sum_{i=3}^6\beta_ix_i$ where $\{u,u'\}\in\langle u_2\rangle$. We can choose λ , $\mu\in F$ such that

$$\begin{vmatrix} lpha_3 + \lambda & lpha_4 \ eta_3 & eta_4 \end{vmatrix}$$
 and $\begin{vmatrix} lpha_5 + \mu & lpha_6 \ eta_5 & eta_6 \end{vmatrix}$

are both nonzero. Then $g_3 = (\lambda f_1 + \mu f_2 + f_3)$ extends $\{f_1, f_2\}$ to a basis of $\langle f_1, f_2, f_3 \rangle$ and $[g_3] \cap \langle x_3, x_4 \rangle = 0$, $[g_3] \cap \langle x_5, x_6 \rangle = 0$.

In Lemma 8, we can in fact take

$$egin{align} f_{\scriptscriptstyle 1} &= u_{\scriptscriptstyle 1} \wedge x_{\scriptscriptstyle 3} + u_{\scriptscriptstyle 2} \wedge x_{\scriptscriptstyle 4} \;, \ f_{\scriptscriptstyle 2} &= u_{\scriptscriptstyle 1} \wedge x_{\scriptscriptstyle 5} + u_{\scriptscriptstyle 2} \wedge x_{\scriptscriptstyle 6} \;, \ f_{\scriptscriptstyle 3} &= u_{\scriptscriptstyle 1} \wedge y + u_{\scriptscriptstyle 2} \wedge y', \langle y, y'
angle \subset \langle u_{\scriptscriptstyle 2}, x_{\scriptscriptstyle 3}, \, \cdots, \, x_{\scriptscriptstyle 6}
angle \end{array}$$

and does not intersect each $[f_i]$, $i \neq 3$.

THEOREM 9. Let H be an $\mathscr{L}-2$ subspace. Let $\{f_1, f_2, f_3\}$ be pairwise- P_5 , independent in H such that $\dim \sum_{i=1}^3 [f_i] = 6$. Then $\langle f_1, f_2, f_3 \rangle$ has a (1, 1) basis of pairwise- P_6 vectors.

Proof. Using the representations of f_1, f_2, f_3 obtained in Theorem 8 and Corollary 3, we take $g_1 = (f_1 + f_3)$. Then $\{g_1, f_2, f_3\}$ is a (1, 1) basis $\{g_1, f_2\}$ a P_6 -pair, and $[g_1] \cap [f_2] \cap [f_3] = \langle u_1, u_2 \rangle$. The result follows by Lemma 8.

COROLLARY 4. Let $\{f_1, f_2, f_3\}$ be a (1, 1) basis for an $\mathcal{L} - 2$ subspace such that $\sum_{i=1}^{3} [f_i] = 6$. Then there exist a (1, 1) basis of pairwise- P_6 vectors for $\langle f_1, f_2, f_3 \rangle$.

THEOREM 10. Let H be an $\mathscr{L}-2$ subspace, $\dim H \geq 3$. Let $\{f_1, f_2, f_3\}$ be independent in H such that (i) $\dim \sum_{i=1}^3 [f_i] = 6$, (ii) $\bigcap_{i=1}^3 [f_i] = 0$. Then $\{f_1, f_2, f_3\}$ are pairwise- P_6 and for any basis $\{u_1, u_2\}$ of $[f_1] \cap [f_2]$, $(\sum_{i=1}^3 [f_i])$ has a basis $\{u_1, u_2, x_3, \dots, x_6\}$ such that $\{f_1, f_2, f_3\}$ have representations $f_1 = u_1 \wedge x_3 + u_2 \wedge x_4$, $f_2 = u_1 \wedge x_5 + u_2 \wedge x_6$, $f_3 = x_3 \wedge w_1 + x_4 \wedge w_2 = x_5 \wedge v_1 + x_6 \wedge v_2$, $\langle w_1, w_2 \rangle = \langle x_5, x_6 \rangle$, $\langle v_1, v_2 \rangle = \langle x_3, x_4 \rangle$.

Proof. If $\{f_1, f_2, f_3\}$ were not pairwise- P_6 , we would have a contradiction of (ii). Since $\{f_1, f_2\}$ is a P_6 -pair, the choice of representations of f_1, f_2 is immediate (Lemma 4). Let

$$[f_3] = \langle x_3', x_4', z_1, z_2 \rangle, x_3' \in [x_3; u_1, u_2,], x_4' \in [x_4; u_1, u_2]$$
.

It is not difficult to show we can represent $f_3 = x_3' \wedge w_1 + x_4' \wedge w_2$, where $\langle w_1, w_2, x_4' \rangle = \langle x_4', z_1, z_2 \rangle$, and thus $\{w_1, w_2\} \in [z_1, z_2; x_4']$, and $f_1 = u_1 \wedge x_3' + u_2 \wedge x_4'$ (using Lemma 9 of [4] and proof of Lemma 4).

In a similar fashion, without altering u_1 or u_2 , we can choose

$$x_5' \in [x_5; u_1, u_2], x_6' \in [x_6; u_1, x_2], \langle u_5', x_6' \rangle = \langle z_1, z_2 \rangle,$$

so that $f_2 = u_1 \wedge x_5' + u_2 \wedge x_6'$, $f_3 = x_5' \wedge v_1 + x_6' \wedge v_2$, where $\langle v_1, v_2, x_6' \rangle = \langle x_6', x_3', x_4' \rangle$. Thus $\{v_1, v_2\} \in [x_3', x_4'; x_6']$. From above, f_3 is also $x_3' \wedge w_1 + x_4' \wedge w_2$, and $\{w_1, w_2\} \in [x_5', x_6'; x_4']$. With respect to the independent set $\{x_4' \wedge x_3'\}$, the coefficient of $x_3' \wedge x_4'$ is zero in the second expression obtained for f_3 , and the coefficient of $x_5' \wedge x_6'$ is zero in the first. It

follows that neither term appears in f_3 . We have the result on placing x_i for x_i' , $i = 3, \dots, 6$.

LEMMA 9. Let H be an $\mathcal{L}-2$ subspace. Let $\{f_1, f_2, f_3\}$ be independent in H satisfying

- (i) dim $\sum_{i=1}^{3} [f_i] = 6$,
- (ii) $\{f_1, f_2\}$ is a P_6 -pair,
- (iii) dim $\bigcap_{i=1}^3 [f_i] = 1$.

Then there exists $g_3 \in \langle f_1, f_2, f_3 \rangle$ such that $\{f_1, f_2, g_3\}$ is a basis of pairwise- P_6 vectors for $\langle f_1, f_2, f_3 \rangle$ and $\bigcap_{i=1}^3 [f_i] = [g_3] \cap [f_1] \cap [f_2]$.

Proof. There are representations $f_1 = u_1 \wedge x_3 + u_2 \wedge x_4$, $f_2 = u_1 \wedge x_5 + u_2 \wedge x_6$, and $\sum_{i=1}^3 [f_i] = \langle u_1, u_2, x_3, \dots, x_6 \rangle$. Let $\bigcap_{i=1}^3 [f_i] = \langle u \rangle$. Then $u \in \langle u_1, u_2 \rangle$. Without loss of generality, we can take $u = u_1$. By Lemma 9 of [4], $f_3 = u_1 \wedge w + w' \wedge v$, $\langle w, w', v \rangle \subset \langle u_2, x_3, \dots, x_6 \rangle$. If $\{f_1, f_2, f_3\}$ are pairwise- P_6 , we have the result.

Case 1. Suppose $\{f_1, f_3\}$ is a P_6 -pair and $\{f_2, f_3\}$ is a P_5 -pair. Then we can take $f_3 = u_1 \wedge w + x_4 \wedge v'$ (use Lemma 6 and (iii)), where

$$\langle w, v_4, v' \rangle \subset \langle u_2, x_3, \cdots, x_6 \rangle$$
.

Let $[f_2] \cap [f_3] = \langle u_1, y, y' \rangle$. Then $\{y, y'\} \in [x_5, x_6; u_2]$. Therefore

$$f_3 = u_1 \wedge w + x_4 \wedge v', w \in [x_5, x_6; u_2, x_4], v' \in [x_5, x_6; u_2]$$
.

Let $v'=ax_5+bx_6+cu_2$. Choose $\gamma\neq 0$ such that $\gamma+c\neq 0$. Let $g_3=f_3+\gamma f_1$. Then $\{g_3,f_1\}$ and $\{f_2,g_3\}$ are P_6 -pairs.

Case 2. Suppose $\{f_1, f_3\}$, $\{f_2, f_3\}$ are both P_5 -pairs. This and (iii) imply dim $([f_1] \cap [f_3]) + ([f_2] \cap [f_3]) = 5$, which exceeds the dimension of $[f_3]$. Hence this case is not possible.

LEMMA 10. If $f \in \mathcal{L}_2$ and $f \in x_1 \wedge [x_2, x_3, x_4] + [x_4; x_2] \wedge [x_3; x_2]$ where $[f] = \langle x_1, \dots, x_4 \rangle$, then $f \in x_1 \wedge [x_2] + [x_4; x_1, x_2] \wedge [x_3; x_1, x_2]$.

Proof. Apply Lemma 7 to $\langle x_1, x_2 \rangle$ and notice that the coefficient of $x_4 \wedge x_3$ is nonzero in f.

THEOREM 11. Let H be an $\mathscr{L}-2$ subspace, $\dim H \geq 3$. Let $\{f_1, f_2, f_3\}$ be pairwise- P_6 and independent in H satisfying

- (i) dim $\sum_{i=1}^{3} [f_i] = 6$,
- (ii) dim $\bigcap_{i=1}^{3} [f_i] = 1$.

Then for $\langle u_1 \rangle = \bigcap_{i=1}^3 [f_i]$ and any vector u_2 such that $\langle u_1, u_2 \rangle = [f_1] \cap [f_2]$, there exists a basis $\{u_1, u_2, x_3, \dots, x_6\}$ such that $f_1 = u_1 \wedge x_3 + u_2 \wedge x_4$, $f_2 = u_1 \wedge x_5 + u_2 \wedge x_6$, $f_3 = u_1 \wedge y + x_4 \wedge x_6$, where $y \in \langle u_2, x_3, \dots, x_6 \rangle$,

 $y \notin \langle u_1, x_3, x_5 \rangle, y \notin [f_i], i = 1, 2.$ Furthermore, there exists g_3 such that $\langle f_1, f_2, g_3 \rangle = \langle f_1, f_2, f_3 \rangle$ and $g_3 = u_1 \wedge u_2 + v \wedge w, v \in [x_4; u_1, u_2], w \in [x_6; u_1, u_2]$ and $g_3 = v' \wedge w' + \gamma x_4 \wedge x_6, 0 \neq \gamma \in F, v' \in [u_1; x_4, x_6], w' \in [u_2; x_4, x_6].$

Proof. The proof involves choosing a suitable basis of $\sum_{i=1}^{3} [f_i]$ and the use of Lemma 6 and 7. To obtain the form of g_3 , we use Lemma 10.

LEMMA 11. Let H be an $\mathcal{L}-2$ subspace. Let $\{f_1, f_2, f_3\}$ be independent in H such that

- (i) dim $\sum_{i=1}^{3} [f_i] = 6$,
- (ii) $\{f_1, f_2\}$ is a P_6 -pair,
- (iii) dim $\bigcap_{i=1}^{3} [f_i] = 2;$

then $\{f_1, f_2\}$ can be extended to a basis of pairwise- P_6 vectors for $\langle f_1, f_2, f_3 \rangle$.

Proof. By a suitable choice of basis vectors for $\sum_{i=1}^3 [f_i]$, and the application of Lemma 7, we have two possible cases. One case implies $\{f_1, f_2, f_3\}$ is a (1, 1) basis and the result follows by Lemma 8. This case is when either $\{f_1, f_3\}$ or $\{f_2, f_3\}$ is a P_6 -pair. Thus, the other possible case is when both $\{f_1, f_3\}$ and $\{f_2, f_3\}$ are P_5 -pairs. Then $f_1 = u_1 \wedge x_3 + u_2 \wedge x_4$, $f_2 = u_1 \wedge x_5 + u_2 \wedge x_6$ with $\sum_{i=1}^3 [f_i] = \langle u_1, u_2, x_3, \dots, x_6 \rangle$. By Lemma 7, f_3 is either $u_1 \wedge v + u_2 \wedge w$ or $u_1 \wedge u_2 + v' \wedge w'$. The first case implies $\{f_1, f_2, f_3\}$ is a(1, 1) basis and Lemma 8 applies. In the second case, we can take $v' \in [f_1]$, $w' \in [f_2]$; i.e., $v' \in [x_3, x_4, u_1, u_2]$, $w' \in [x_5, x_6; u_1, u_2]$. In fact, we can take $v' \in [x_3; x_4, u_1, u_2]$, and $v' = x_3 + au_1 + bu_2 + cx_4$. Now $w' = dx_5 + a'u_1 + b'u_2 + c'x_4$. We then show c' - cd = 0, by considering the determinant of (a_{ij}) , where a_{ij} is defined as follows. Let $z = f_1 + f_2 + f_3$. We can express

$$z = w_1 \wedge w_2 + w_3 \wedge w_4 + w_5 \wedge w_6$$
.

For $i=1,2,a_{ij}$ is the coefficient of u_i in w_j . For $i=3,\cdots,6,a_{ij}$ is the coefficient of x_i in w_j . This determinant is $\pm (c'-cd)$. If it is nonzero, $\mathcal{L}(z)=3$. Hence it must equal zero. Then a suitable choice of basis vectors of $\sum_{i=1}^3 [f_i]$ will allow us to assume that c=0 in v' and c'=0 in w'. Then $g_3=(f_3-f_1+f_2)$ will extend $\{f_1,f_2\}$ to a pair wise- P_6 basis for $\langle f_1,f_2,f_3\rangle$.

We have sufficient reason now to assert the following theorem.

THEOREM 12. Let $\{f_1, f_2, f_3\}$ generate a three-dimensional $\mathscr{L}-2$ subspace H, and dim $\sum_{i=1}^{3} [f_i] = 6$. Then H has a basis of pairwise- P_6 vectors $\{g_1, g_2, g_3\}$ which either form a (1, 1) basis of H or have intersection $\bigcap_{i=1}^{3} [g_i]$ with dimension 0 or 1. Moreover, if $\{f_1, f_2\}$ is a

 P_{e} -pair, then this pair can be extended to a basis of pairwise- P_{e} vectors of H.

EXAMPLES. H is generated by $\{f_1, f_2, f_3\}$ where

- $(i) \quad f_1 = u_1 \wedge x_3 + u_2 \wedge x_4, f_2 = u_1 \wedge x_5 + u_2 \wedge x_6,$
- $f_3 = u_1 \wedge (u_2 + x_3 + x_5) + x_4 \wedge x_6;$
 - (ii) f_1, f_2 as in (i), $f_3 = u_1 \wedge x_4 + u_2 \wedge x_5$;
 - (iii) f_1, f_2 as in (i), $f_3 = x_3 \wedge x_5 + x_4 \wedge x_6$.

The maximal $\mathscr{L}-2$ subspaces, dim $\mathscr{U}=6$. We shall now obtain this main theorem:

Theorem 13. Let H be an $\mathscr{L}-2$ subspace and $\dim \mathscr{U}=6$. Then $\dim H \leq 3$.

We prove this theorem by a series of lemmas, which show dim $H \geqslant 3$, in fact, dim $H \neq 4$. We take two three-dimensional $\mathscr{L}-2$ subspaces $\langle f_1, f_2, f_3 \rangle$ and $\langle f_1, f_2, f_4 \rangle$ and show their sum is not an $\mathscr{L}-2$ subspace. Theorem 12 allows us to take $\{f_1, f_2, f_3\}$ and $\{f_1, f_2, f_4\}$ to be pairwise- P_6 , and there are 6 cases to consider since dim $\bigcap_{i=1}^{3} [f_i] = 0, 1, 2$ and a similar intersection property holds for the second set.

The following results are true for any dimension n of ${\mathcal U}$ unless otherwise specified.

LEMMA 12. Let H be an $\mathcal{L}-2$ subspace. Let $\{f_1, f_2, f_3\}$ be independent pairwise- P_6 in H satisfying

- (i) dim $\sum_{i=1}^{3} [f_i] = 6$,
- (ii) $\bigcap_{i=1}^{3} [f_i] = 0$.

If $f_4 \in \mathcal{L}_2$, independent of $\{f_1, f_2, f_3\}$, satisfying

- (a) dim $\sum_{i=1}^{4} [f_i] = 6$
- (b) $\{f_1, f_2, f_4\}$ is pairwise- P_6
- (c) dim $\bigcap_{i=1,2,4} [f_i] = 1$,

then $\langle f_1, \dots, f_4 \rangle$ is not an $\mathcal{L}-2$ subspace.

Proof. By Lemma 10, $\sum_{i=1}^{3} [f_i]$ has a basis $\{u_1, u_2, x_3, \dots, x_6\}$ such that $f_1 = u_1 \wedge x_3 + u_2 \wedge x_4$, $f_2 = u_1 \wedge x_5 + u_2 \wedge x_6$, $f_3 = x_5 \wedge z + x_6 \wedge z'$, $\langle z, z' \rangle = \langle x_3, x_4 \rangle$. Let $\langle u \rangle = \bigcap_{1,2,4} [f_i]$. Then $u \in \langle u_1, u_2 \rangle$. We can take $u_1 = u$.

By Theorem 11, there exists $g_3 \in \langle f_1, f_2, f_4 \rangle$ such that $g_3 = v' \wedge w' + \gamma x_4 \wedge x_6$, $0 \neq \gamma \in F'$ and $\langle f_1, f_2, g_3 \rangle = \langle f_1, f_2, f_4 \rangle$. Since $\{v', w', x_6, x_5, z, z'\}$ is independent and $\{x_4 + \alpha z', z\}$ is independent for some $\alpha \in F$, then $z = g_3 - \alpha f_3$ has irreducible length 3 for some α . Hence $\langle f_1, \dots, f_4 \rangle$ is not an $\mathscr{L} - 2$ subspace.

Since the proofs of the lemmas involving the other cases are similar to the proof of Lemma 8 in the sense that in each case, we exhibit a vector of irreducible length 3 or less than 2 except in the 0-0 case,

which we can reduce to one of the other cases, we shall simply state the final lemma.

LEMMA 13. Let H be an $\mathscr{L}-2$ subspace. Let $\{f_1, f_2, f_3\}$ be independent in H such that $\dim \sum_{i=1}^3 [f_i] = 6$. If $f_4 \in \mathscr{L}_2$, independent $\{f_1, f_2, f_3\}$ such that $\dim_{i=1}^4 [f_i] = 6$, then $\langle f_1, \dots, f_4 \rangle$ is not an $\mathscr{L}-2$ subspace.

We have to check one more case before we obtain Theorem 13.

LEMMA 14. Let H be an $\mathscr{L}-2$ subspace. Let $\{f_1, f_2, f_3\}$ be independent in H, dim $\sum_{i=1}^{3} [f_i] = 5$. If $f_4 \in \mathscr{L}_2$, $f_4 \notin \langle f_1, f_2, f_3 \rangle$, and dim $\sum_{i=1}^{4} [f_i] = 6$, then $\langle f_1, \dots, f_4 \rangle$ is not an $\mathscr{L}-2$ subspace.

Proof. We note dim $\sum_{i,2,4} [f_i] = 6$ and apply Lemma 13.

We have now:

LEMMA 15. Let H be an $\mathscr{L}-2$ subspace. Let $\{f_1, \dots, f_k\}$ be independent in H, dim $\sum_{i=1}^k [f_i] = 6$. Then $k \leq 3$. For k = 3, $\langle f_1, f_2, f_3 \rangle$ has a basis of pairwise- P_6 vectors.

Theorem 13 follows from Lemma 15

3. dim $\mathcal{U} = 7$.

The three dimensional $\mathcal{L}-2$ subspaces.

THEOREM 14. Let H be an $\mathscr{L}-2$ subspace of dimension ≥ 3 . Let $\{f_1, f_2, f_3\}$ be independent in H such that $\dim \sum_{i=1}^3 [f_i] = 7$. Then $\{f_1, f_2, f_3\}$ contains a P_6 -pair, say $\{f_1, f_2\}$, which can be extended to a pairwise- P_6 basis $\{f_1, f_2, g_3\}$ of $\langle f_1, f_2, f_3 \rangle$. Moreover, either this basis is a (1, 1) basis or $\dim ([f_1] \cap [f_2] \cap [g_3]) = 1$; and any basis $\{u_1, u_2\}$ of $[f_1] \cap [f_2]$ can be extended to a basis $\{u_1, u_2, u_3, \dots, u_7\}$ of $[f_1] + [f_2] + [g_3]$ such that $f_1 = u_1 \wedge x_3 + u_2 \wedge x_4, f_2 = u_1 \wedge x_5 + u_2 \wedge x_6$; and $g_3 = u_1 \wedge x_7 + u_2 \wedge v$, $v \in \langle u_2, u_3, \dots, u_6 \rangle$, $v \notin \langle u_2, u_4, u_6 \rangle$, and $v \notin [f_1]$ and $v \notin [f_2]$ in the first case; $g_3 = u_1 \wedge x_7 + u_4 \wedge x_6$ in the second case.

Proof. A consideration of the various intersections and sums of $[f_i]$, i=1,2,3 shows dim $\bigcap_{i=1}^3 [f_i]$ is either 1 or 2, and that there are at least two P_6 -pairs in $\{f_1,f_2,f_3\}$. In the first case this independent set is in fact pairwise- P_6 . The second case implies $\{f_1,f_2,f_3\}$ is a (1,1) basis for $\langle f_1,f_2,f_3\rangle$. If this basis is not pairwise- P_6 but $\{f_1,f_2\}$ and $\{f_2,f_3\}$ are P_6 -pairs, and $\{f_1,f_3\}$ a P_5 -pair, we can choose a basis

 $\{u_1, u_2, x_3, \dots, x_7\}$ to give $f_1 = u_1 \wedge x_3 + u_2 \wedge x_4$, $f_2 = u_1 \wedge x_5 + u_2 \wedge x_6$, $f_3 = u_1 \wedge x_7 + u_2 \wedge v$, $v \in \langle u_2, x_3, \dots, x_6 \rangle$. Then we can take $g_3 = f_2 + f_3$. To obtain the desired representations of $\{f_1, f_2, f_3\}$ in the first case, we use an argument similar to the ones used earlier to obtain basis representations.

The maximal $\mathscr{L}-2$ subspaces, dim $\mathscr{U}=7$. We obtain the following theorem.

THEOREM 15. Let H be an $\mathscr{L}-2$ subspace, $\dim \mathscr{U}=7$. Then $\dim H \leq 4$. When $\dim H=4$, H has a (1,1) basis, three of whose members are pairwise- P_6 .

The proof is contained in Lemmas 16, 17, and 18 which follow.

LEMMA 16. Let $\{f_1, f_2, f_3\}$ be a (1, 1) basis for the $\mathscr{L}-2$ subspace $\langle f_1, f_2, f_3 \rangle$, such that $\dim \sum_{i=1}^3 [f_i] = 7$. If $f_4 \in \mathscr{L}_2$, independent of $\{f_1, f_2, f_3\}$ such that

- (i) dim $\sum_{i=1}^{4} [f_i] = 7$,
- (ii) $\langle f_1, \dots, f_4 \rangle$ is an $\mathcal{L}-2$ subspace, then $\langle f_1, \dots, f_4 \rangle$ has a (1, 1) basis, three of whose members are pairwise- P_6 .

Proof. By Theorem 14, $\{f_1, f_2, f_3\}$ can be assumed to be pairwise- P_6 with the representations given. Then it is easy to see that some pair in $\{f_1, f_2, f_3\}$, say $\{f_1, f_2\}$, is such that dim $\sum_{i=1,2,4} [f_i] = 7$, and $\{f_1, f_2, f_4\}$ can be assumed pairwise- P_6 . The two cases given in Theorem 14, apply to $\{f_1, f_2, f_4\}$. One case gives the desired result immediately. We can eliminate the other case by showing the presence of a vector in \mathscr{L}_3 in $\{f_1, \dots, f_4\}$; in fact we can take the vector $f_1 + f_2 + f_3 + \alpha f_4$ for some suitable $0 \neq \alpha \in F$.

LEMMA 17. Let H be an $\mathscr{L}-2$ subspace. Let $\{f_1, f_2, f_3\}$ be independent in H, dim $\sum_{i=1}^3 [f_i] = 7$. If $f_4 \in \mathscr{L}_2, f_4 \notin \langle f_1, f_2, f_3 \rangle$ such that

- (i) dim $\sum_{i=1}^{4} [f_i] = 7$,
- (ii) $\langle f_1, \dots, f_4 \rangle$ is an $\mathcal{L} 2$ subspace, then $\langle f_1, \dots, f_4 \rangle$ has a (1, 1) basis, three of whose members are pairwise- P_6 .

Proof. In view of Theorem 14 and Lemma 16, it is sufficient to eliminate the case dim $\bigcap_{i=1}^3 [f_i] = 1$. We use a similar procedure as in the proof of Lemma 16, and the representations of $\{f_i\}$ in Theorem 14. We have two cases: (a) $\bigcap_{i=1,2,4} [f_i] = \langle u_1 \rangle$, (b) $\bigcap_{i=1,2,4} [f_i] = \langle u_2 \rangle$. In (a), $\langle f_1, \dots, f_4 \rangle$ contains a vector of irreducible length one. In (b), $\langle f_1, \dots, f_4 \rangle$ contains a vector or irreducible length at least three.

In addition to these two lemmas, we note that if H is an $\mathscr{L}-2$ subspace, $\{f_1,f_2,f_3\}$ independent in H and (i) dim $\sum_{i=1}^3 [f_i]=6$, then $\{f_i\}$ can be taken to be pairwise- P_6 (Lemma 15) and if $f_4 \notin \langle f_1,f_2,f_3 \rangle$, dim $\sum_{i=1}^4 [f_i]=7$, then dim $\sum_{i=1,2,4} [f_i]=7$; (ii) $\sum_{i=1}^3 [f_i]=5$, and if $f_4 \notin \langle f_1,f_2,f_3 \rangle$, dim $\sum_{i=1}^4 [f_i]=7$, then dim $\sum_{i=2}^4 [f_i]=7$. Hence both these cases reduce to the case considered in Lemma 17.

LEMMA 18. Let H be an $\mathscr{L}-2$ subspace, and $\{f_1, \dots, f_4\}$ be independent in H, dim $\sum_{i=1}^4 [f_i] = 7$. If $f_5 \in \mathscr{L}_2$, $f_5 \notin \langle f_1, \dots, f_4 \rangle$, and dim $\sum_{i=1}^5 [f_i] = 7$, then $\langle f_1, \dots, f_5 \rangle$ is not an $\mathscr{L}-2$ subspace.

Proof. Apply Lemma 17 to $\{f_1, \dots, f_4\}$ and $\{f_2, \dots, f_4\}$ taking $\{f_1, f_2, f_3\}$ pairwise- P_6 . Then $\langle f_1, \dots, f_5 \rangle$ has a (1, 1) basis, contradicting Theorem 4.

4. The main results.

LEMMA 19. If H is an $\mathscr{L}-2$ subspace and $\{f_1, f_2, f_3\}$ is independent in H, dim $\sum_{i=1}^{3} [f_i] = 8$, then $\{f_1, f_2, f_3\}$ is a (1, 1), pairwise- P_6 basis of $\langle f_1, f_2, f_3 \rangle$, and we can represent

$$f_1 = u_1 \wedge x_3 + u_2 \wedge x_4 \; , \ f_2 = u_1 \wedge x_5 + u_2 \wedge x_6 \; , \ f_3 = u_1 \wedge x_7 + u_2 \wedge x_8 \; ; \ \sum_{i=1}^3 [f_i] = \langle u_1, u_2, x_3, \cdots, x_8
angle \; .$$

If $f_4 \in \mathcal{L}_2$, $f_4 \notin \langle f_1, f_2, f_3 \rangle$, and $\langle f_1, \dots, f_4 \rangle$ is an $\mathcal{L} - 2$ subspace, then $\{f_1, \dots, f_4\}$ is a (1, 1) basis for $\langle f_1, \dots, f_4 \rangle$.

Proof. The first part is not difficult to see. Using Lemma 5 we obtain dim $[f_4] \cap \langle u_1, u_2 \rangle \geq 1$. This intersection will have dimension 2, and f_4 forms a P_6 -pair with one of $\{f_1, f_2, f_3\}$ since dim $[f_4] = 4$.

Lemma 19 is extremely important as the second part states that presence of a 3-subset $\{f_1, f_2, f_3\}$ of any basis of an $\mathscr{L}-2$ subspace H such that $\dim \sum_{i=1}^3 [f_i] = 8$ will guarantee that the basis will be a (1,1) basis. We know that if $\dim \mathscr{L} \geq 8$, then in any basis of H, we can find a 3-subset $\{g_1, g_2, g_3\}$ such that $\dim \sum_{i=1}^3 [g_i] = 6, 7$ or 8. It is by now a more or less routine, and somewhat tedious, procedure to show the existence of a 3-subset $\{f_1, f_2, f_3\}$ in such a basis of H for $\dim \mathscr{U} = 8$, and then by induction for $\dim \mathscr{U} \geq 9$. We shall simply state the main result and remark here that Theorem 4 provides the value of the maximal dimension of a (1,1) basis.

THEOREM 16. Let dim $\mathcal{U} = n \geq 6$. If H is an $\mathcal{L} - 2$ subspace,

then dim $H \le n - 3$. If dim $H \ge 4$, then H has a (1, 1) basis, and is hence a (1, 1)-type subspace.

REFERENCES

- 1. E. Bertini, Einfuehrung in die Projektive Geometrie Mehrdimensionaler Raume, Vienna, 1924.
- 2. N. Bourbaki, Elements de mathematique, Chap. 3, Algebre Multilinear, 1948.
- 3. W. V. D. Hodge and D. Pedoe, Methods of Algebraic Geometry, Vol. 1, Cambridge 1968.
- 4. M. J. S. Lim, Rank k Grassmann products, Pacific J. Math., 29 (1969), 367-374.
- 5. M. Marcus and R. Westwick, Linear maps on skew-symmetric matrices, the invariance of elementary symmetric functions, Pacific J. Math. 10 (1960).
- 6. B. L. van der Wearden, Modern algebra, Vol. 2.
- 7. R. Westwick, Linear transformations on Grassmann spaces, Pacific J. Math. (3) 14 (1964).

Received April 14, 1969, and in revised form April 14, 1969.

McGill University, Montreal, Canada

PACIFIC JOURNAL OF MATHEMATICS

EDITORS

H. SAMELSON Stanford University Stanford, California 94305

RICHARD PIERCE University of Washington Seattle, Washington 98105

J. DUGUNDJI Department of Mathematics University of Southern California Los Angeles, California 90007

RICHARD ARENS University of California Los Angeles, California 90024

ASSOCIATE EDITORS

E. F. BECKENBACH

B. H. NEUMANN

F. Wolf

K. Yoshida

SUPPORTING INSTITUTIONS

UNIVERSITY OF BRITISH COLUMBIA CALIFORNIA INSTITUTE OF TECHNOLOGY UNIVERSITY OF CALIFORNIA MONTANA STATE UNIVERSITY UNIVERSITY OF NEVADA NEW MEXICO STATE UNIVERSITY OREGON STATE UNIVERSITY UNIVERSITY OF OREGON OSAKA UNIVERSITY UNIVERSITY OF SOUTHERN CALIFORNIA

STANFORD UNIVERSITY UNIVERSITY OF TOKYO UNIVERSITY OF UTAH WASHINGTON STATE UNIVERSITY UNIVERSITY OF WASHINGTON

AMERICAN MATHEMATICAL SOCIETY CHEVRON RESEARCH CORPORATION TRW SYSTEMS

NAVAL WEAPONS CENTER

Printed in Japan by International Academic Printing Co., Ltd., Tokyo, Japan

Pacific Journal of Mathematics

Vol. 33, No. 1

March, 1970

Mir Maswood Ali, On some extremal simplexes	1
Silvio Aurora, On normed rings with monotone multiplication	15
Silvio Aurora, Normed fields which extend normed rings of integers	21
John Kelly Beem, Indefinite Minkowski spaces	29
T. F. Bridgland, Trajectory integrals of set valued functions	43
Robert Jay Buck, A generalized Hausdorff dimension for functions and	
sets	69
Vlastimil B. Dlab, A characterization of perfect rings	79
Edward Richard Fadell, Some examples in fixed point theory	89
Michael Benton Freeman, Tangential Cauchy-Riemann equations and uniform approximation	101
Barry J. Gardner, Torsion classes and pure subgroups	109
Vinod B. Goyal, Bounds for the solution of a certain class of nonlinear	
partial differential equations	117
Fu Cheng Hsiang, On C, 1 summability factors of Fourier series at a given	
point	139
Lawrence Stanislaus Husch, Jr., Homotopy groups of PL-embedding	
spaces	149
Daniel Ralph Lewis, Integration with respect to vector measures	157
Marion-Josephine Lim, $\mathcal{L}-2$ subspaces of Grassmann product spaces	167
Stephen J. Pierce, Orthogonal groups of positive definite multilinear	
functionals	183
W. J. Pugh and S. M. Shah, On the growth of entire functions of bounded	
index	191
Siddani Bhaskara Rao and Ayyagari Ramachandra Rao, Existence of	
triconnected graphs with prescribed degrees	203
Ralph Tyrrell Rockafellar, On the maximal monotonicity of subdifferential	
mappings	209
R. Shantaram, Convergence of a sequence of transformations of distribution	
functions. II	217
Julianne Souchek, Rings of analytic functions	233
Ted Joe Suffridge, The principle of subordination applied to functions of	
several variables	241
Wei-lung Ting, On secondary characteristic classes in cobordism	
theory	249
Pak-Ken Wong, Continuous complementors on B*-algebras	255
Miyuki Yamada, On a regular semigroup in which the idempotents form a	
band	261